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	1. 
	
	Գնահատված դրամական արժեքը

Գ

	
	 

< $ 1000
	4
	
	
	
	
	
	

	2. 
	
	
	
	$1000-      $ 5000
	3
	
	
	
	
	
	

	3. 
	
	
	
	$5000-$10000
	2
	
	
	
	
	
	

	4. 
	
	
	
	> $10000
	1
	
	
	
	
	
	

	5. 
	
	Բնապահպանական և առողջապահական ազդեցությունը

Բ
	
	բացասական
	0
	
	
	
	
	
	

	6. 
	
	
	
	չկա
	1
	
	
	
	
	
	

	7. 
	
	
	
	ցածր
	2
	
	
	
	
	
	

	8. 
	
	
	
	միջին
	3
	
	
	
	
	
	

	9. 
	
	
	
	բարձր
	4
	
	
	
	
	
	

	10. 
	
	Շահառուների թիվը

Շ
	
	< 25%
	1
	
	
	
	
	
	

	11. 
	
	
	
	25%-50%
	2
	
	
	
	
	
	

	12. 
	
	
	
	50%-75%
	3
	
	
	
	
	
	

	13. 
	
	
	
	75%-100%
	4
	
	
	
	
	
	

	14. 
	
	Հանրային աջակցություն

Հ
	
	չկա
	1
	
	
	
	
	
	

	15. 
	
	
	
	ցածր 
	2
	
	
	
	
	
	

	16. 
	
	
	
	միջին
	3
	
	
	
	
	
	

	17. 
	
	
	
	բարձր
	4
	
	
	
	
	
	


